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1. The area of the circle that can be inscribed

in a square of side 6 cm is

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_f82y0pgc63dJ


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

4π

6π

9π

π

2. 50 people work in a cooperative society.

They all use their own conveyance. 20 people

use their scooters, 12 go by their cars, 16 go by

https://dl.doubtnut.com/l/_f82y0pgc63dJ
https://dl.doubtnut.com/l/_VmMjGrBxX7bo


public transport and 2 use bicycle. Find H.C.F.

of 20, 16, 12 and 2.

A. 2

B. 4

C. 6

D. 5

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_VmMjGrBxX7bo


3. A quadratic polynomial , whose zeroes are

 and 4 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

−3

x2 − x − 12

2x2 − x + 12

x2 − x + 4

x2 − 3x + 4

https://dl.doubtnut.com/l/_MVWL1qXBExGS
https://dl.doubtnut.com/l/_inAKo0jO2n3e


4. The probability of an event which is certain

to happen is_________________.

A. 0

B. 1

C. -1

D. 

Answer: B

Watch Video Solution

∞

https://dl.doubtnut.com/l/_inAKo0jO2n3e


5. Write 98 as product of
its prime factors.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2 × 72

3 × 7

52 × 7

22 × 72

https://dl.doubtnut.com/l/_ZCIC0B41Ue6e


6. If 
 is a factor of 


, find 
.

A. 2

B. -1

C. 0

D. 

Answer: A

Watch Video Solution

(x + a)

2x2 + 2ax + 5x + 10 a

−3

2

https://dl.doubtnut.com/l/_17xZd101WyCT
https://dl.doubtnut.com/l/_bubc2rRaNsCO


7. Relation between diameter and

circumference

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

C = 2πd

C = πd

C =
πd

2

C =
πd2

2

https://dl.doubtnut.com/l/_bubc2rRaNsCO


8. Two coins are tossed simultaneously. What

is the probability of getting at least one head?

A. 

B. 

C. 

D. 1

Answer: B

Watch Video Solution

1

4

3

4

1

2

https://dl.doubtnut.com/l/_YZDDu03ZWLcJ
https://dl.doubtnut.com/l/_axE1E4KmnSnJ


9. For what value of a is  zero of the

polynomial ?

A. 7

B. 1

C. 9

D. 4

Answer: C

Watch Video Solution

−4

p(x) = x2 − x − (2a + 2)

https://dl.doubtnut.com/l/_axE1E4KmnSnJ


10. What are the coordinates of the mid-point

of (2a, 0) and (0, 2b).

A. (a, b)

B. (a, 2)

C. (b, a)

D. (2, b)

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_PXT28kBWERQP
https://dl.doubtnut.com/l/_Q9ONiYUSp2HH


11. In Figure ABC is an isosceles triangle right

angled at C with AC = 4 cm . Find the length of

AB . 

A. 

B. 

2√4cm

3√4cm

https://dl.doubtnut.com/l/_Q9ONiYUSp2HH


C. 

D. 

Answer: C

Watch Video Solution

4√2cm

4√3cm

12. In what ratio does the point 

divide the line segment joining the points

A. 

C( , )
3

5

11

5

A(3, 5)andB( − 3, − 2)?

3

2

https://dl.doubtnut.com/l/_Q9ONiYUSp2HH
https://dl.doubtnut.com/l/_6ydZbJVk7BIz


B. 

C. 

D. 

Answer: B

Watch Video Solution

2

3

2.5

2

2

2.5

13. Find a rational number between

A. 

√2 and √3.

1.41 − 1.73

https://dl.doubtnut.com/l/_6ydZbJVk7BIz
https://dl.doubtnut.com/l/_Vklx3CgEX18i


B. 

C. 

D. 

Answer: A

Watch Video Solution

3.21 − 6.10

2.41 − 3.10

7.12 − 7.88

14. A bag containing 5 red and 4 black balls. If

a ball is drawn at random from the bag, what

is the probability of getting a black ball.

https://dl.doubtnut.com/l/_Vklx3CgEX18i
https://dl.doubtnut.com/l/_i7PCadlZnkb4


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

4
9

9

4

5

2

2

5

15. If the circumfernece of two circles are in

the ratio , What is the ratio of their radii?4: 5

https://dl.doubtnut.com/l/_i7PCadlZnkb4
https://dl.doubtnut.com/l/_MXOBoz9Aucb3


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

5: 4

2: 6

4: 5

2: 3

16. What is the decimal representation of

?
136

1400

https://dl.doubtnut.com/l/_MXOBoz9Aucb3
https://dl.doubtnut.com/l/_9TwwKXk3lYqI


A. Non-terminating and non-repeating

B. Terminating and repeating

C. Non-terminating and repeating

D. Teminating and non-repeating

Answer: A

Watch Video Solution

17. A model of a aeroplane (somewhat

triangular in shape) is made on the scale of

https://dl.doubtnut.com/l/_9TwwKXk3lYqI
https://dl.doubtnut.com/l/_if4MPyUDpnBH


. The model is 150 cm long, what is the

length of the actual aeroplane?

A. 170 m

B. 150 m

C. 200 m

D. 15 m

Answer: B

Watch Video Solution

1: 100

https://dl.doubtnut.com/l/_if4MPyUDpnBH


18. What is the difference between the values

of the polynomial  at x=1 and

x=2?

A. -2

B. 2

C. 3

D. None of these

Answer: B

Watch Video Solution

7x − 3x2 + 7

https://dl.doubtnut.com/l/_1rmHYulJRlyj


19. A 20 m long vertical pole casts a shadow 10

m long.At the same time tower makes shadow

50 m long, the tower is _____ long.

A. 75 m

B. 100 m

C. 105 m

D. 120 m

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_mn73m3vcojvZ


20. If ax+by=c and lx+my=n has unique solution

then the relation between the coefficients will

be of the form:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

am ≠ lb

am = lb

ab = lm

ab ≠ lm

https://dl.doubtnut.com/l/_2e0n4pMXkk7t


21. Which of the following statement is

incorrect?

A. The ratio of perimeters of two similar

 is the same as the ratio of their

corresponding sides.

B. If the areas of two similar  are equal,

then they are congurent.

C. If the ratio of areas of two similar  is

equal to the ratio of the sides.

Δs

Δs

Δs

https://dl.doubtnut.com/l/_RTn6dO1rAKzK


D. If ratio of corresponding is , then

ratio of their areas are .

Answer: C

View Text Solution

5: 8

25: 64

22. The value of 
 for which the system of

equations 
 and 


has no solution, is
 (a) 10 (b)

6 (c) 3 (d) 1

k

x + 2y − 3 = 0

5x + ky + 7 = 0

https://dl.doubtnut.com/l/_RTn6dO1rAKzK
https://dl.doubtnut.com/l/_v4ekWMeYzmwD


A. 10

B. 12

C. 13

D. None of these

Answer: A

Watch Video Solution

23. In , 

 and AB=3DE. Then, the

two triangles are

ΔABC and ΔDEF

∠B = ∠E, ∠F = ∠C

https://dl.doubtnut.com/l/_v4ekWMeYzmwD
https://dl.doubtnut.com/l/_OeKVsodJiNfe


A. Congurent but not similar

B. Similar but not congurent

C. Neither congurent nor similar

D. Similar as well as congurent

Answer: B

Watch Video Solution

24. If (6, k) is a solution of the equation

3x+y=22 then the value of k is:

https://dl.doubtnut.com/l/_OeKVsodJiNfe
https://dl.doubtnut.com/l/_3JSFESrhPDnf


A. -4

B. 4

C. 3

D. -3

Answer: B

Watch Video Solution

25. The line segments joining the mid-points

of the sides of a triangle form four triangles,

each of which is:

https://dl.doubtnut.com/l/_3JSFESrhPDnf
https://dl.doubtnut.com/l/_kjF4T9kXFBIA


A. Congurent to the original triangle

B. Similar to the original triangle

C. an isosceles triangle

D. an equilateral triangle

Answer: B

Watch Video Solution

26. The ratio of the HCF and LCM of 52 and 130

is:

https://dl.doubtnut.com/l/_kjF4T9kXFBIA
https://dl.doubtnut.com/l/_QpuCf8iHDX9K


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1: 10

10: 1

2: 5

5: 2

27. How many zeroes can a polynomial of

degree n can have?

https://dl.doubtnut.com/l/_QpuCf8iHDX9K
https://dl.doubtnut.com/l/_gYJJbDL10yDh


A. At most n

B. Exaclty n

C. n+1

D. None of these

Answer: A

Watch Video Solution

28. The perimeters of two similar triangles are

25 cm and 15 cm respectively. If one side of the

https://dl.doubtnut.com/l/_gYJJbDL10yDh
https://dl.doubtnut.com/l/_Q82ZtvShkNSL


first triangle is 9 cm, then the corresponding

side of second triangle is .........

A. 5.4 cm

B. 8 cm

C. 9.5 cm

D. 10 cm

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Q82ZtvShkNSL


29. Ratios of sides of a right triangle with

respect to its acute angles are known as:

A. trigonometric identities

B. trigonometry

C. trigonometric ratios of the angles

D. none of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_Zmp797d9ysfy
https://dl.doubtnut.com/l/_l4bpRsutxAYA


30. Prime factors of the denominator of a

rational number with the decimal expansion

25.2354 are:

A. 2, 3

B. 2, 3, 5

C. 2, 7

D. 2, 5

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_l4bpRsutxAYA
https://dl.doubtnut.com/l/_F77ln38NIChj


31. A system of two simultaneous linear

equations in two variables is inconsistent, if

their graphs:

A. are parallel

B. are coincident

C. intersect one point

D. None of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_F77ln38NIChj


32. If  is the midpoint of the line

segment joining the points A(-6, 5) and B(-2, 3)

then the value of a is

A. -8

B. 3

C. -4

D. 4

Answer: A

Watch Video Solution

P( , 4)
a

2

https://dl.doubtnut.com/l/_9eh6eoYJhfRU


33. If sin , then  is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

θ =
a

b
cos θ

b

√b2 − a2

b

a

√b2 − a2

b

a

√b2 − a2

https://dl.doubtnut.com/l/_8YKh6scy9kjv


34. In a right
 triangle 
 , right
 angled at 


 and 
 . The
 radius

of the circle inscribed in the triangle (in cm) is

(a) 4 (b) 3 (c) 2 (d) 1

A. 4

B. 3

C. 2

D. 1

Answer: C

Watch Video Solution

ABC

B,  BC = 12cm AB = 5cm

https://dl.doubtnut.com/l/_I3zthQdlJto4


Watch Video Solution

35. The decimal expansion of :

A. is terminating

B. is non terminating are recurring

C. is non terminating and non-recurring

D. does not exist.

Answer: C

Watch Video Solution

π

https://dl.doubtnut.com/l/_I3zthQdlJto4
https://dl.doubtnut.com/l/_PdmUmjZnbZVW
https://dl.doubtnut.com/l/_GkOYIIy8Kphk


36. If 31x+43y=117 and 43x+31y=105 then, the

value of x+y is:

A. -3

B. 

C. 

D. 3

Answer: D

Watch Video Solution

1

3

−
1

3

https://dl.doubtnut.com/l/_GkOYIIy8Kphk


37. If A and B are the points

 respectively, then

the
distance 2AB is equal to

A. 13

B. 26

C. 169

D. 238

Answer: B

Watch Video Solution

( − 6, 7) and ( − 1, − 5)

https://dl.doubtnut.com/l/_SVT77vDWpC4Z


38. What is the value of k for which the pair of

linear equations kx-2y=3 and 3x+y=5 has a

unique solution.

A. k=6

B. 

C. k=-6

D. None of these

Answer: B

Watch Video Solution

k ≠ − 6

https://dl.doubtnut.com/l/_4sufJbXCwt59


39. Which of the following cannot be the

probability of an event ?

A. 1/3

B. 0.1

C. 

D. 17/16

Answer: D

Watch Video Solution

3%

https://dl.doubtnut.com/l/_HR0tmfge5O6B
https://dl.doubtnut.com/l/_AcY5enPdvLZX


40. A boat is rowed downstream at 15 km/h

and upstream at 8 km/h. The speed of the

stream is:

A. 3.5 km/h

B. 5.5 km/h

C. 6.5 km/h

D. 7.5 km/h

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_AcY5enPdvLZX
https://dl.doubtnut.com/l/_XCld0H1WgPKo


41. Case Study-1: Aanya and her father go to

meet her friend Juhi for a party. When they

reached to Juhi's place, Aanya saw the roof of

the house, which is triangular in shape. If she

imagined the dimensions of the roof as given

in the figure, then answer the following

questions. 

https://dl.doubtnut.com/l/_XCld0H1WgPKo


 


If D is the mid point of AC, then BD=

A. 2 m

B. 3 m

C. 4 m

D. 6 m

Answer: D

https://dl.doubtnut.com/l/_XCld0H1WgPKo


Watch Video Solution

42. Case Study-1: Aanya and her father go to

meet her friend Juhi for a party. When they

reached to Juhi's place, Aanya saw the roof of

the house, which is triangular in shape. If she

imagined the dimensions of the roof as given

in the figure, then answer the following

questions. 

https://dl.doubtnut.com/l/_XCld0H1WgPKo
https://dl.doubtnut.com/l/_K5TkrVmB9EYl


 


Measure of A=

A. 

B. 

C. 

D. None of these

Answer: C

30∘

60∘

45∘

https://dl.doubtnut.com/l/_K5TkrVmB9EYl


Watch Video Solution

43. Case Study-1: Aanya and her father go to

meet her friend Juhi for a party. When they

reached to Juhi's place, Aanya saw the roof of

the house, which is triangular in shape. If she

imagined the dimensions of the roof as given

in the figure, then answer the following

questions. 

https://dl.doubtnut.com/l/_K5TkrVmB9EYl
https://dl.doubtnut.com/l/_VnF6QE4rpdbK


 


Measure of C=

A. 

B. 

C. 

D. None of these

Answer: C

30∘

60∘

45∘

https://dl.doubtnut.com/l/_VnF6QE4rpdbK


Watch Video Solution

44. Case Study-1: Aanya and her father go to

meet her friend Juhi for a party. When they

reached to Juhi's place, Aanya saw the roof of

the house, which is triangular in shape. If she

imagined the dimensions of the roof as given

in the figure, then answer the following

questions. 

https://dl.doubtnut.com/l/_VnF6QE4rpdbK
https://dl.doubtnut.com/l/_P1NEkJ1ga71s


 


Find the value of sinA+cosC:

A. 0

B. 1

C. 

D. 

Answer: D

1

√2

√2

https://dl.doubtnut.com/l/_P1NEkJ1ga71s


Watch Video Solution

45. Case Study-1: Aanya and her father go to

meet her friend Juhi for a party. When they

reached to Juhi's place, Aanya saw the roof of

the house, which is triangular in shape. If she

imagined the dimensions of the roof as given

in the figure, then answer the following

questions. 

https://dl.doubtnut.com/l/_P1NEkJ1ga71s
https://dl.doubtnut.com/l/_XdONBFtFi2zX


 


Find the value of :

A. 0

B. 1

C. 2

D. 

Answer: C

tan2 C + tan2 A

1

2

https://dl.doubtnut.com/l/_XdONBFtFi2zX


Watch Video Solution

46. Case Study-2: A company manufactores

two types of sanitizers Alpha and Beta. The

cost of the small bottle of Alpha sanitizer is Rs.

10 and for beta sanitizer is Rs. 12. In the month

of June, the company sold total 1000 bottles

and makes a total sale of Rs. 10,820. Seeing the

great demand and short of supply, company

decided to increase the price of both the

sanitizer by Rs. 1. In the next month i.e. July, the

company sold 2,500 bottles and total sales of

https://dl.doubtnut.com/l/_XdONBFtFi2zX
https://dl.doubtnut.com/l/_rLsx2y3p86mp


Rs. 29,200. 

Answer the following questions: 

How many sanitizers of each type was sold in

June?

A. 460, 510

B. 540, 460

C. 410, 590

D. 590, 410

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_rLsx2y3p86mp


47. Case Study-2: A company manufactores two

types of sanitizers Alpha and Beta. The cost of

the small bottle of Alpha sanitizer is Rs. 10 and

for beta sanitizer is Rs. 12. In the month of

June, the company sold total 1000 bottles and

makes a total sale of Rs. 10,820. Seeing the

great demand and short of supply, company

decided to increase the price of both the

sanitizer by Rs. 1. In the next month i.e. July, the

company sold 2,500 bottles and total sales of

Rs. 29,200. 

https://dl.doubtnut.com/l/_rLsx2y3p86mp
https://dl.doubtnut.com/l/_7Z8ND0YgFIow


Answer the following questions: 

If the store sold 500 bottles of each type of

sanitizer in June, what would be their sales?

A. Rs. 5500

B. Rs. 5600

C. Rs. 10,500

D. Rs. 11,000

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_7Z8ND0YgFIow
https://dl.doubtnut.com/l/_rkFXRv6ZotiW


48. Case Study-2: A company manufactores

two types of sanitizers Alpha and Beta. The

cost of the small bottle of Alpha sanitizer is Rs.

10 and for beta sanitizer is Rs. 12. In the month

of June, the company sold total 1000 bottles

and makes a total sale of Rs. 10,820. Seeing the

great demand and short of supply, company

decided to increase the price of both the

sanitizer by Rs. 1. In the next month i.e. July, the

company sold 2,500 bottles and total sales of

Rs. 29,200. 

Answer the following questions: 

https://dl.doubtnut.com/l/_rkFXRv6ZotiW


How many bottles of each type were sold in

the next month when rate was increased?

A. 1200, 1300

B. 1300, 1200

C. 1550, 950

D. 1650, 850

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_rkFXRv6ZotiW


49. Case Study-2: A company manufactores

two types of sanitizers Alpha and Beta. The

cost of the small bottle of Alpha sanitizer is Rs.

10 and for beta sanitizer is Rs. 12. In the month

of June, the company sold total 1000 bottles

and makes a total sale of Rs. 10,820. Seeing the

great demand and short of supply, company

decided to increase the price of both the

sanitizer by Rs. 1. In the next month i.e. July, the

company sold 2,500 bottles and total sales of

Rs. 29,200. 

Answer the following questions: 

https://dl.doubtnut.com/l/_UFII9BdLejKn


What percent of increase was found in alpha

sanitizer in July as compared to June?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

182%

79%

179.66 %

50%

https://dl.doubtnut.com/l/_UFII9BdLejKn


50. Case Study-2: A company manufactores

two types of sanitizers Alpha and Beta. The

cost of the small bottle of Alpha sanitizer is Rs.

10 and for beta sanitizer is Rs. 12. In the month

of June, the company sold total 1000 bottles

and makes a total sale of Rs. 10,820. Seeing the

great demand and short of supply, company

decided to increase the price of both the

sanitizer by Rs. 1. In the next month i.e. July, the

company sold 2,500 bottles and total sales of

Rs. 29,200. 

Answer the following questions: 

https://dl.doubtnut.com/l/_y7JakXJhzPo4


In July, if total of 1050 bootles of each type

were sold, what would be the sale?

A. Rs. 25,000

B. Rs. 25,200

C. Rs. 27,000

D. Rs. 28,500

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_y7JakXJhzPo4


51. The area of the circle that can be inscribed

in a square of side 6 cm is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

4π

6π

9π

π

https://dl.doubtnut.com/l/_YK0AjJexRzXl
https://dl.doubtnut.com/l/_88GZvHaDSNws


52. 50 people work in a cooperative society.

They all use their own conveyance. 20 people

use their scooters, 12 go by their cars, 16 go by

public transport and 2 use bicycle. Find H.C.F.

of 20, 16, 12 and 2.

A. 2

B. 4

C. 6

D. 5

Answer: A

https://dl.doubtnut.com/l/_88GZvHaDSNws


Watch Video Solution

53. Find the quadratic polynomial, whose

zeroes are -3 and 4.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 − x − 12

2x2 − x + 12

x2 − x + 4

x2 − 3x + 4

https://dl.doubtnut.com/l/_88GZvHaDSNws
https://dl.doubtnut.com/l/_Trzd1lANhbqG


54. The probability of an event which is certain

to happen is_________________.

A. 0

B. 1

C. -1

D. 

Answer: B

Watch Video Solution

∞

https://dl.doubtnut.com/l/_Trzd1lANhbqG
https://dl.doubtnut.com/l/_UXXR3Bb1dplE


55. Write 98 as product of its prime factors.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2 × 72

3 × 7

52 × 7

22 × 72

https://dl.doubtnut.com/l/_mEj53KB0ki2b


56. If (x+a) is a factor of

, find a.

A. 2

B. -1

C. 0

D. 

Answer: A

Watch Video Solution

f(x) = (2x2 + 2ax + 5x + 10)

−3

2

https://dl.doubtnut.com/l/_1HiPIUzcl7nF
https://dl.doubtnut.com/l/_C1lGDsiDxgS5


57. What is the relation between the diameter

and circumference of a circle?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

C = 2πd

C = πd

C =
πd

2

C =
πd2

2

https://dl.doubtnut.com/l/_C1lGDsiDxgS5


58. What is the probability of getting at least

on head on tossing two coins?

A. 

B. 

C. 

D. 1

Answer: B

Watch Video Solution

1

4

3

4

1

2

https://dl.doubtnut.com/l/_CDE9W484bTX0
https://dl.doubtnut.com/l/_V8mqIB9GsU85


59. For what value of k is -4 a zero of the

polynomial ?

A. 7

B. 1

C. 9

D. 4

Answer: C

Watch Video Solution

f(x) = x2 − x − (2k + 2)

https://dl.doubtnut.com/l/_V8mqIB9GsU85


60. What are the coordinates of the mid-point

of (2a, 0) and (0, 2b).

A. (a, b)

B. (a, 2)

C. (b, a)

D. (2, b)

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_18PNVspuKJ86
https://dl.doubtnut.com/l/_vhKbYgpu0xNn


61. In Figure ABC is an isosceles triangle right

angled at C with AC = 4 cm . Find the length of

AB . 

A. 

B. 

2√4cm

3√4cm

https://dl.doubtnut.com/l/_vhKbYgpu0xNn


C. 

D. 

Answer: C

Watch Video Solution

4√2cm

4√3cm

62. In what ratio does the point 

divide the line segment joining the points

A. 

C( , )
3

5

11

5

A(3, 5)andB( − 3, − 2)?

3

2

https://dl.doubtnut.com/l/_vhKbYgpu0xNn
https://dl.doubtnut.com/l/_meOYUsS1Fxvv


B. 

C. 

D. 

Answer: B

Watch Video Solution

2

3

2.5

2

2

2.5

63. Find a rational number between

A. 

√2 and √3.

1.41 − 1.73

https://dl.doubtnut.com/l/_meOYUsS1Fxvv
https://dl.doubtnut.com/l/_ktA0xH5IwDlD


B. 

C. 

D. 

Answer: A

Watch Video Solution

3.21 − 6.10

2.41 − 3.10

7.12 − 7.88

64. A bag containing 5 red and 4 black balls. If

a ball is drawn at random from the bag, what

is the probability of getting a black ball.

https://dl.doubtnut.com/l/_ktA0xH5IwDlD
https://dl.doubtnut.com/l/_mc5zHmigqXsd


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

4
9

9

4

5

2

2

5

65. If the circumfernece of two circles are in

the ratio , What is the ratio of their radii?4: 5

https://dl.doubtnut.com/l/_mc5zHmigqXsd
https://dl.doubtnut.com/l/_S7cjSU7lRLsb


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

5: 4

2: 6

4: 5

2: 3

66. What is the decimal representation of

?
136

1400

https://dl.doubtnut.com/l/_S7cjSU7lRLsb
https://dl.doubtnut.com/l/_syi6TGG6sNyX


A. Non-terminating and non-repeating

B. Terminating and repeating

C. Non-terminating and repeating

D. Teminating and non-repeating

Answer: A

Watch Video Solution

67. A model of a aeroplane (somewhat

triangular in shape) is made on the scale of

https://dl.doubtnut.com/l/_syi6TGG6sNyX
https://dl.doubtnut.com/l/_7pYmPWtUF4kO


. The model is 150 cm long, what is the

length of the actual aeroplane?

A. 170 m

B. 150 m

C. 200 m

D. 15 m

Answer: B

Watch Video Solution

1: 100

https://dl.doubtnut.com/l/_7pYmPWtUF4kO


68. What is the difference between the values

of the polynomial  at x=1 and

x=2?

A. -2

B. 2

C. 3

D. None of these

Answer: B

Watch Video Solution

7x − 3x2 + 7

https://dl.doubtnut.com/l/_xStX2UDYjCmp


69. A 20 m long vertical pole casts a shadow 10

m long.At the same time tower makes shadow

50 m long, the tower is _____ long.

A. 75 m

B. 100 m

C. 105 m

D. 120 m

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_UnqFWuWbvu3d


70. If  and  has

unique solution then the relation between the

coefficients will be of the form:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ax + by = c lx + my = n

am ≠ lb

am = lb

ab = lm

ab ≠ lm

https://dl.doubtnut.com/l/_lTFkPjzQN2Z0


71. Which of the following statement is

incorrect?

A. The ratio of perimeters of two similar

 is the same as the ratio of their

corresponding sides.

B. If the areas of two similar  are equal,

then they are congurent.

C. If the ratio of areas of two similar  is

equal to the ratio of the sides.

Δs

Δs

Δs

https://dl.doubtnut.com/l/_bydoyw1g8ALA


D. If ratio of corresponding is , then

ratio of their areas are .

Answer: C

Watch Video Solution

5: 8

25: 64

72. The value of 
 for which the system of

equations 
 and 


has no solution, is
 (a) 10 (b)

6 (c) 3 (d) 1

k

x + 2y − 3 = 0

5x + ky + 7 = 0

https://dl.doubtnut.com/l/_bydoyw1g8ALA
https://dl.doubtnut.com/l/_ETQEtZvsP2hx


A. 10

B. 12

C. 13

D. None of these

Answer: A

Watch Video Solution

73. In , 

 and AB=3DE. Then, the

two triangles are

ΔABC and ΔDEF

∠B = ∠E, ∠F = ∠C

https://dl.doubtnut.com/l/_ETQEtZvsP2hx
https://dl.doubtnut.com/l/_KMu905Xv1D7H


A. Congurent but not similar

B. Similar but not congurent

C. Neither congurent nor similar

D. Similar as well as congurent

Answer: B

Watch Video Solution

74. If (6, k) is a solution of the equation

3x+y=22 then the value of k is:

https://dl.doubtnut.com/l/_KMu905Xv1D7H
https://dl.doubtnut.com/l/_qURykHs7zKMY


A. -4

B. 4

C. 3

D. -3

Answer: B

Watch Video Solution

75. The line segments joining the mid-points

of the sides of a triangle form four triangles,

each of which is:

https://dl.doubtnut.com/l/_qURykHs7zKMY
https://dl.doubtnut.com/l/_XDl5y34A5jBv


A. Congurent to the original triangle

B. Similar to the original triangle

C. an isosceles triangle

D. an equilateral triangle

Answer: B

View Text Solution

76. The ratio of the HCF and LCM of 52 and 130

is:

https://dl.doubtnut.com/l/_XDl5y34A5jBv
https://dl.doubtnut.com/l/_pA16OP2o2STK


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1: 10

10: 1

2: 5

5: 2

77. How many zeroes can a polynomial of

degree n can have?

https://dl.doubtnut.com/l/_pA16OP2o2STK
https://dl.doubtnut.com/l/_CzsK8fQIrz5Y


A. At most n

B. Exaclty n

C. n+1

D. None of these

Answer: A

Watch Video Solution

78. The perimeters of two similar triangles are

25 cm and 15 cm respectively. If one side of the

https://dl.doubtnut.com/l/_CzsK8fQIrz5Y
https://dl.doubtnut.com/l/_ixm7q0XkLjaH


first triangle is 9 cm, then the corresponding

side of second triangle is .........

A. 5.4 cm

B. 8 cm

C. 9.5 cm

D. 10 cm

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_ixm7q0XkLjaH


79. Ratios of sides of a right triangle with

respect to its acute angles are known as:

A. trigonometric identities

B. trigonometry

C. trigonometric ratios of the angles

D. none of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_M81XfmzIs6KZ
https://dl.doubtnut.com/l/_JhaEGN4dqB0m


80. Prime factors of the denominator of a

rational number with the decimal expansion

25.2354 are:

A. 2, 3

B. 2, 3, 5

C. 2, 7

D. 2, 5

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_JhaEGN4dqB0m
https://dl.doubtnut.com/l/_1gSeB1zzmm20


81. A system of two linear equations in two

variables is consistent , if their graphs .

A. are parallel

B. are coincident

C. intersect one point

D. None of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_1gSeB1zzmm20


82. If  is the midpoint of the line

segment joining the points A(-6, 5) and B(-2, 3)

then the value of a is

A. -8

B. 3

C. -4

D. 4

Answer: A

Watch Video Solution

P( , 4)
a

2

https://dl.doubtnut.com/l/_aogigencS2iF


83. If sin , then  is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

θ =
a

b
cos θ

b

√b2 − a2

b

a

√b2 − a2

b

a

√b2 − a2

https://dl.doubtnut.com/l/_CWWVFtAmv2o8


84. In a right
 triangle 
 , right
 angled at 


 and 
 . The
 radius

of the circle inscribed in the triangle (in cm) is

(a) 4 (b) 3 (c) 2 (d) 1

A. 4

B. 3

C. 2

D. 1

Answer: C

Watch Video Solution

ABC

B,  BC = 12cm AB = 5cm

https://dl.doubtnut.com/l/_ii8UQgNB4gOP


Watch Video Solution

85. The decimal expansion of :

A. is terminating

B. is non terminating are recurring

C. is non terminating and non-recurring

D. does not exist.

Answer: C

Watch Video Solution

π

https://dl.doubtnut.com/l/_ii8UQgNB4gOP
https://dl.doubtnut.com/l/_xk2ameFMTSWL
https://dl.doubtnut.com/l/_P3ywXs2DOUX2


86. If 31x+43y=117 and 43x+31y=105 then, the

value of x+y is:

A. -3

B. 

C. 

D. 3

Answer: D

Watch Video Solution

1

3

−
1

3

https://dl.doubtnut.com/l/_P3ywXs2DOUX2


87. If A and B are the points

 respectively, then

the
distance 2AB is equal to

A. 13

B. 26

C. 169

D. 238

Answer: B

Watch Video Solution

( − 6, 7) and ( − 1, − 5)

https://dl.doubtnut.com/l/_EoaB1izBsmS1


88. What is the value of k for which the pair of

linear equations kx-2y=3 and 3x+y=5 has a

unique solution.

A. k=6

B. 

C. k=-6

D. None of these

Answer: B

Watch Video Solution

k ≠ − 6

https://dl.doubtnut.com/l/_zZM8jd4ODao0


89. Which of the following cannot be the

probability of an event ?

A. 1/3

B. 0.1

C. 

D. 17/16

Answer: D

Watch Video Solution

3%

https://dl.doubtnut.com/l/_0fjHF8w21SaJ
https://dl.doubtnut.com/l/_QmaUlhn6wXE9


90. A boat is rowed downstream at 15 km/h

and upstream at 8 km/h. The speed of the

stream is:

A. 3.5 km/h

B. 5.5 km/h

C. 6.5 km/h

D. 7.5 km/h

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_QmaUlhn6wXE9
https://dl.doubtnut.com/l/_RMfoLMCVRxxK


91. Case Study-1: Aanya and her father go to

meet her friend Juhi for a party. When they

reached to Juhi's place, Aanya saw the roof of

the house, which is triangular in shape. If she

imagined the dimensions of the roof as given

in the figure, then answer the following

questions. 

https://dl.doubtnut.com/l/_RMfoLMCVRxxK





If D is the mid point of AC, then BD=

A. 2 m

B. 3 m

C. 4 m

D. 6 m

Answer: D

https://dl.doubtnut.com/l/_RMfoLMCVRxxK


Watch Video Solution

92. Case Study-1: Aanya and her father go to

meet her friend Juhi for a party. When they

reached to Juhi's place, Aanya saw the roof of

the house, which is triangular in shape. If she

imagined the dimensions of the roof as given

in the figure, then answer the following

questions. 

https://dl.doubtnut.com/l/_RMfoLMCVRxxK
https://dl.doubtnut.com/l/_QK7vVZL0LNP7


 


Measure of A=

A. 

B. 

C. 

D. None of these

Answer: C

30∘

60∘

45∘

https://dl.doubtnut.com/l/_QK7vVZL0LNP7


Watch Video Solution

93. Case Study-1: Aanya and her father go to

meet her friend Juhi for a party. When they

reached to Juhi's place, Aanya saw the roof of

the house, which is triangular in shape. If she

imagined the dimensions of the roof as given

in the figure, then answer the following

questions. 

https://dl.doubtnut.com/l/_QK7vVZL0LNP7
https://dl.doubtnut.com/l/_hOioO9ipx3oe





Measure of C=

A. 

B. 

C. 

D. None of these

Answer: C

30∘

60∘

45∘

https://dl.doubtnut.com/l/_hOioO9ipx3oe


Watch Video Solution

94. Case Study-1: Aanya and her father go to

meet her friend Juhi for a party. When they

reached to Juhi's place, Aanya saw the roof of

the house, which is triangular in shape. If she

imagined the dimensions of the roof as given

in the figure, then answer the following

questions. 

https://dl.doubtnut.com/l/_hOioO9ipx3oe
https://dl.doubtnut.com/l/_hB8Hu8e56Rcw





Find the value of sinA+cosC:

A. 0

B. 1

C. 

D. 

Answer: D

1

√2

√2

https://dl.doubtnut.com/l/_hB8Hu8e56Rcw


Watch Video Solution

95. Case Study-1: Aanya and her father go to

meet her friend Juhi for a party. When they

reached to Juhi's place, Aanya saw the roof of

the house, which is triangular in shape. If she

imagined the dimensions of the roof as given

in the figure, then answer the following

questions. 

https://dl.doubtnut.com/l/_hB8Hu8e56Rcw
https://dl.doubtnut.com/l/_QEoH2Dybez20





Find the value of :

A. 0

B. 1

C. 2

D. 

Answer: C

tan2 C + tan2 A

1

2

https://dl.doubtnut.com/l/_QEoH2Dybez20


Watch Video Solution

96. Case Study-2: A company manufactores two

types of sanitizers Alpha and Beta. The cost of

the small bottle of Alpha sanitizer is Rs. 10 and

for beta sanitizer is Rs. 12. In the month of

June, the company sold total 1000 bottles and

makes a total sale of Rs. 10,820. Seeing the

great demand and short of supply, company

decided to increase the price of both the

sanitizer by Rs. 1. In the next month i.e. July, the

company sold 2,500 bottles and total sales of

https://dl.doubtnut.com/l/_QEoH2Dybez20
https://dl.doubtnut.com/l/_6jHFGGoUH1zp


Rs. 29,200. 

Answer the following questions: 

How many sanitizers of each type was sold in

June?

A. 460, 510

B. 540, 460

C. 410, 590

D. 590, 410

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_6jHFGGoUH1zp


97. Case Study-2: A company manufactores two

types of sanitizers Alpha and Beta. The cost of

the small bottle of Alpha sanitizer is Rs. 10 and

for beta sanitizer is Rs. 12. In the month of

June, the company sold total 1000 bottles and

makes a total sale of Rs. 10,820. Seeing the

great demand and short of supply, company

decided to increase the price of both the

sanitizer by Rs. 1. In the next month i.e. July, the

company sold 2,500 bottles and total sales of

Rs. 29,200. 

https://dl.doubtnut.com/l/_6jHFGGoUH1zp
https://dl.doubtnut.com/l/_2zu4xClgRJCO


Answer the following questions: 

If the store sold 500 bottles of each type of

sanitizer in June, what would be their sales?

A. Rs. 5500

B. Rs. 5600

C. Rs. 10,500

D. Rs. 11,000

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_2zu4xClgRJCO
https://dl.doubtnut.com/l/_KzEQH0iX4Hqv


98. Case Study-2: A company manufactores two

types of sanitizers Alpha and Beta. The cost of

the small bottle of Alpha sanitizer is Rs. 10 and

for beta sanitizer is Rs. 12. In the month of

June, the company sold total 1000 bottles and

makes a total sale of Rs. 10,820. Seeing the

great demand and short of supply, company

decided to increase the price of both the

sanitizer by Rs. 1. In the next month i.e. July, the

company sold 2,500 bottles and total sales of

Rs. 29,200. 

Answer the following questions: 

https://dl.doubtnut.com/l/_KzEQH0iX4Hqv


How many bottles of each type were sold in

the next month when rate was increased?

A. 1200, 1300

B. 1300, 1200

C. 1550, 950

D. 1650, 850

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_KzEQH0iX4Hqv


99. Case Study-2: A company manufactores two

types of sanitizers Alpha and Beta. The cost of

the small bottle of Alpha sanitizer is Rs. 10 and

for beta sanitizer is Rs. 12. In the month of

June, the company sold total 1000 bottles and

makes a total sale of Rs. 10,820. Seeing the

great demand and short of supply, company

decided to increase the price of both the

sanitizer by Rs. 1. In the next month i.e. July, the

company sold 2,500 bottles and total sales of

Rs. 29,200. 

Answer the following questions: 

https://dl.doubtnut.com/l/_ZVj2R9rNpvHN


What percent of increase was found in alpha

sanitizer in July as compared to June?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

182%

79%

179.66 %

50%

https://dl.doubtnut.com/l/_ZVj2R9rNpvHN


100. Case Study-2: A company manufactores

two types of sanitizers Alpha and Beta. The

cost of the small bottle of Alpha sanitizer is Rs.

10 and for beta sanitizer is Rs. 12. In the month

of June, the company sold total 1000 bottles

and makes a total sale of Rs. 10,820. Seeing the

great demand and short of supply, company

decided to increase the price of both the

sanitizer by Rs. 1. In the next month i.e. July, the

company sold 2,500 bottles and total sales of

Rs. 29,200. 

Answer the following questions: 

https://dl.doubtnut.com/l/_9hzB4CtYnCXI


Section A

In July, if total of 1050 bootles of each type

were sold, what would be the sale?

A. Rs. 25,000

B. Rs. 25,200

C. Rs. 27,000

D. Rs. 28,500

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_9hzB4CtYnCXI


1. Solve: 

Watch Video Solution

√3x2 − 2√2x − 2√3 = 0

2. From a point Q, 13 cm away from the centre

of a circle, the length of tangent PQ to the

circle is 12 cm. What will be it the radius of the

circle (in cm)?

Watch Video Solution

https://dl.doubtnut.com/l/_vR2CxBOwruBS
https://dl.doubtnut.com/l/_vcMQs6DoY600
https://dl.doubtnut.com/l/_k3Y2gx0pnX9d


3. If  term of an A.P. is (2n + 1), what is the

sum of its first three terms ?

Watch Video Solution

nth

4. The median of the following frequency

distribution will be: 

View Text Solution

https://dl.doubtnut.com/l/_k3Y2gx0pnX9d
https://dl.doubtnut.com/l/_7TiglBOw5kny


5. A solid is hemispherical at the bottom and

conical (of same radius) above it. If the surface

area of the two are equal then find the ratio of

the radius and the slant height of the conical

part.

View Text Solution

6. The roots of the quadratic equation

.

Watch Video Solution

x2 − 0.04 = 0

https://dl.doubtnut.com/l/_5TR85egKrpR1
https://dl.doubtnut.com/l/_rmg9w2XhhWIz


Section B

7. The difference in the roots of the equation

View Text Solution

2x2 − 11x + 5 = 0

1. Consider the frequency distribution of the

heights of 60 students of a class : 

https://dl.doubtnut.com/l/_rmg9w2XhhWIz
https://dl.doubtnut.com/l/_yFpVthZFOMFj
https://dl.doubtnut.com/l/_LucB8Xyl74fX


 


Find the sum of the lower limit of the modal

class and the upper limit of the median class.

View Text Solution

2. The angle of elevation of the top of a tower

at a point on the ground is . If the height

of the tower is tripled, find the angle of

elevation of the top of the same point.

Watch Video Solution

30∘

https://dl.doubtnut.com/l/_LucB8Xyl74fX
https://dl.doubtnut.com/l/_knJ4KsVgH1Qo


Section C

3. The tops of two towers of height x and y,

standing on level ground, subtend angles of

 respectively at the centre of the

line joining their feet, then find x:y.

View Text Solution

30∘ and 60∘

https://dl.doubtnut.com/l/_knJ4KsVgH1Qo
https://dl.doubtnut.com/l/_AtgSDwS9OOP8


1. If  denotes the sum of the first n terms of

an A.P., prove that 

View Text Solution

Sn

S30 = 3(S20 − S10)

2. Find the sum of the following: 

...

upto n terms.

View Text Solution

(1 − ) + (1 − ) + (1 − ) +
1

n

2

n

3

n

https://dl.doubtnut.com/l/_FwBm40KWawf3
https://dl.doubtnut.com/l/_npYJKH2h3o6K

